WA -Y At o
SET A : - S/F /P / l l/ 20 1 8 Question Booklet No.
. wienell v argmTes fw e 3 fod
HFHATEH - <— Candidate should write his/her Roll No.
Roll No. ~ in the given boxes
Afsa g8l i T/ No. of Printed Pages : 32 & We! i §@&A1/Total No. of Questions : 100 .
T /Time : 2 WU/ Hours YUt /Total Marks : 200
whenferai & forg fdw

1. 7 TE-gEE A R 3 s T 3 e s g B o g R

-y § vt A Auiie gen 100 31 W snaw A A B e ye-gie § Puifa e
ofa &, Ry 97 gEl wE-gfe d@i w) ‘ ‘
adt v afed )

4. W TE & 3F T B

En-

o ® e

Te-gfRE ¥ e g W wE-gRe § @ g R wen @ R wteel snaw @ @ % e
ye-qfee Pl gen A g8 e €, s 98 g0 wE-gRE win wl
mm-ﬁmﬁqmﬁ&ﬁﬁmﬂujﬁq%mmwmaiﬁmﬁl

Fo TR-9 W Auffa et ® savs v ®), o= wm )

whanefi o 1w w8 TEA-gfRm ¥ sitm got w Pia R ® A R, 3w @ aw Iu-w W

aR Pt v & P R A A R qeer R R R R, A v F e qon 3ideh woied 4 2
3N TR P UEF T SN

INSTRUCTIONS TO THE CANDIDATES

This Question Booklet is printed in Hindi and English languages. Candidates should select any
one of the two languages according to their convenience.

The Question Booklet contains 100 questions. The examinee should verify that the requisite
number of questions are printed in the Question Booklet, otherwise he/she should ask for
another Question Booklet.

All questions are compulsory.

4. All questions carry equal marks.

II-A

The cover page indicates the number of pages in the Question Booklet. The examinee should verify
that the requisite number of pages are attached in the Question Booklet, otherwise he/she
should ask for another Question Booklet. :

Read carefully the instructions given on the Answer Sheet supplied and indicate your answers
accordingly.

Kindly make necessary entries on the Answer Sheet only at the places indicated and nowhere else.

Examinee should do all rough work on the space meant for rough work in the pages given at the
end of the Question Booklet and nowhere else, not even on the Answer Sheet.

If there is any sort of mistake either of printing or of factual nature in any question, then out of the
Hindi and English versions of the question, the English version will be treated as standard.
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1.- Akash travelled 4 km straight towards

south. He turned left and travelled
6 km straight, then turned right and
travelled 4 km straight. How far is he
from the starting point?

(A) 18 km
(B) 12 km
(C) 10 km
(D) 8 km

. A product costing ¥60 per unit to
produce had been selling at the average
rate of 1200 units per month. After the
product was improved, sales increased
to an average of 2000 umts per month,
However, the new product cost five
percent more to produce. If the
manufacturer’s selling price in each
instance was ¥ 75 per unit, what was
the manufacturer’s added - profit per
month with the newer product?

(A) €4,000 (B) ¥6,000

(©) €8000 (D) ¥9,000

. In an industry, 10% of the employees
have a salary of €20,000; 30% a
- salary of ¥25,000; 50% a salary
of ¥30,000; 10% a salary of ¥40,000.
What is the average salary?

(A) ¥28,500 (B) ¥36,500

" (C) 24,000 (D) ¥19,000

. Aman, Anil and Atul agree to buy ¥ 10
worth of lottery ticket with Aman
contributing 5, Anil ¥3 and Atul 2.
They agree that if they win anything
with this ticket, it should be shared out
in the same ratio as their contributions.
If they win 25,000, how much does
Anil get?

(A) 4,000 (B) 5,000

(€ ¥6,500 (D) ¥7,500

S/F/P/11/2018/2-A

5. Ravi has one and a half times as many

' as Raj, and Raj has one and a half times

as many as Rakesh. Altogether they
have &76,000. How much Raj has?

(A) ¥12,000 (B) ¥16,000
(C) ¥24,000 (D) ¥36,000

6. What is the longest side of a rectangle
which has a perimeter of 70 units and
an area of 276 square units?

(A) 12 units (B) 18 units

(C) 23 units (D) 36 units

7. If a person has to drive 210 km, how
long will the journey take if he drives
-at an average speed of 20 km/hr for
120 km and at an average speed of
30 km/hr for 90 km, and have a
60 minutes stop for refreshments
midway through the journey?

(A) 7 hours (B) 8 hours
(C} 9 hours (D) 10 hours
8. S1mpl1l‘y thc following :

0-9x0-9x0-9- 04x04x04
0-9%0-9+0:4x0-4+0-9x0-4

(A) 1.3 (B) 09
(©) 05 (D) 0-4

Directions (Question Nos. 9 to 11) : For each
of the following words, a context is provided.
From the alternatives, pick the word/phrase
that is closest in meaning to the given context.

9, Incorrigible : Even after spending a year
in jail, the man remained ir;corrigible.
{A) Unreformed '

(B} Regretful
(C) Reformable
. (D} Penitent

3 [P.T.O.
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10.

11.

:Audac_ious Sl .
- disregard for innocent bystanders, the

‘Disheveled : After long working hours,

the police officer looked . tired and
disheveled. '

() Happy
(B) Well-groomed
(C) Untidy
(D) Enthusiastic

With . an audacious
police opened fire at the criminals.

(A) Useless
(B) Foolish

(C) Necessary

_ (D) Defiant

12.

Which of the following Bod_w} languages

.shows that you are listening?

(A) Turning away from the sp_g:aker
(B) Nodding and making eye contact

(C) Checking your e-mail “on phone
- while speaker is talking

(D) Looking out of the window

13. Which one of the following is not n

14.

“communication skill? -

(A) Listening
(B) Speaking
(C) Swimming

(D) Hand waving

You hear of a terror attack and are

_ aghast, then you would look

(A) pleased

(B) horrified

- (C) ignorant

(D) delighted

S/F/P/11/2018/2-A

S

Directions (Question Nos. 15 to 17) : Fill'in
the blank with the most suitable choice.

16.

16.

17.

18,

©
o

.While writing an  apology letter, one .

should focus primarily on

(A) the problem itself

(B) compensation

rectification of the | prd’c;lem '

font of the letter’ '

It is impossible to interact with elach
other without ____.

(A) wvoice

(B) hands

(C) phones

(D) communication skills

s a technique that involves
changing of text content such that the
gist is similar to the source.

(A) Paraphrasing
(B) Quoting
(C) Note-taking

(D) Summarizing

You are a receptionlistlat_the front desk

of a hospital. An emergency accident
case is brought in by some people.

- What will you do?

o

(A) Pirst complete. the admission
procedure and then call the doctor
on duty ’

Call ‘the doctor on duty and
start the admission procedure
simul_taneously

(B)

(C) Inform the police and wait for the
" police to come

Call the doctor on dutg;r, inform the

" police and start the admission
procedure T

{P.T.O.
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21.

‘19, There is an aggressive stray dog in your

residential area.-One of your neighbours

feeds this dog.in.front of your house

even after repeated requests not to do

 so as it.creates a nuisance for you.

What will you do?

. (A) Ward off the dog

(B} Abuse and fight
neighbour

(C} Apprise the neighbour of the law,
request him not to feed in front of
your house and if required put a
police complaint

- (D) Kill the dog

You are walking by on a street.
Suddenly a fight breaks up between two
people. What will you do?

(A) Try to take cover to save yourself

(B) Call the police and-inform about
the incident

(C) Stand there and make a video to
upload it for your friend

(D} Try to find out the problem and
intervene

You go to a shop to buy groceries and
ask for an inveoice. The shopkeeper
demands extra money as taxes for
issuing the invoice. What will you do?

(A] Pay -thc't'axes and get an 'ir;voice

(B) Take the groceries and go home
without the invoice

(C) Feel happy as you could get the
goods by paying less

(D) Tell your friends how to get
commodities for lesser price by not
taking proper invoice

S/F/P/11/2018/2-A
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T

.22,

‘You are travelling in'a bus. An elderly
-man boards the bus, but no seats are

available. What will you do?

(A) Ignore the elderly man and look
elsewhere

(B) Ask the conductor to find a seat for
"the elderly man ;

(C) Give up your seat and ask the -
*elderly man to sit down

(D) Suggest the elderly man to get
down at next stop as the bus is
crowded

23. You and your family are going to an

_auditorium to attend your son’s musical

concert, but get stuck up due to traffic

issue and expect to get late. The seating

is on first come first served basis. One

of your friends who also happens to be

there is able to make it to the front

rows. What will you do?

{A) Call your friend and ask him to
secure seats for you and your
family

(B) Reach the auditorium and fight

with the authontles to .arrange
frpnt row seats

" (C) Reach the ‘auditorium ‘and sit

24.

wherever seats.are available

(D) Try to jump traffic signals to
reach the auditorium on time to
secure front row seats

You are an examiner conducting an
exam. You doubt that a student is trying

to look over into another student’s

answer sheet. What will you do?
{A) You will shout loudly so that the
~ student may deter from attempting
to copy
(B} You will relocate the student to
another desk in the exam room
(C) Tell the nearby students about
your doubt and ask them to be
careful with their answer sheets
(D) Keep the concerned student under
" vigilance and verify if your doubt is
“actually. true

[P.T.O.
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25.

26.

You are teaching in a class: A student
gets up and asks a question to which
you don’t know the correct answer.
What will you do?

.{A} You will scold the student for
trying to disrupt the proceedings of
the class

(B) You will try to answer the question
in a roundabout manner such that
the student may not think that you
don’t know the answer

(C) Ask a counter-question and ask
him to read more

(D) Tell the student that at the
moment you don’t know the
answer, but you will try to find an
answer for him '

You are a police officer. A man
complains that he has paid dowry to the
in-laws of his daughter and that she is
a victim of domestic violence. What will
you do?

(A) Go and arrest the in-laws right
away

(B) Investigate and arrest the in-laws if
deemed necessary

(C) Investigate and arrest the in-laws .

if deemed necessary, and f{rame
charges against the man for paying
dowry

(D) Counsel the person and ask him to
talk to his daughter’s in-laws for a
better future of her daughter

S/F/P/11/2018/2-A

27.

28.

29.

One of your colleagues thinks that
she is being harassed by the boss.
What will you do?

(A) You will try to understand the

situation and only if you feel
same will ask her to approach
appropriate authority

(B) You will try to understand the
situation, apprise her of your
opinion and suggest her to take a
decision to approach appropriate
authority immediately

(C) You will ask her to bear with the
situation as it will bring bad name
to her '

(D) You will tell others about your

colleague so that others may
exercise caution

In a code language, TINY is coded as
RGLW. In the same language, ZEBRA
will be coded as

(A} XCZYP

(B) XCZPY

(C) XZCPY

(D) XZCYP

If LAMP is coded as 30-52-28-22, then
TOY will be coded as

(A) 14-24-4

(B) 20-15-25

(C) 14-4-24

(D} 20-25-15

[P.T.O.
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Directions (Question Nos. 30 and 31) : There
is same relationship between the information
given on both sides of the (:). Find the most
appropriate choice for the missing information
in these questions. '

30.

31.

16 : 64 :: 40 ?
(A) 4

B) 40

() 400"

(D) 4000

PITY : 35 :: NOTE : ?

(A) 27

B e

az.

33.

(C) 54
(D) 74
In a class of 250 sti.ldénf's, 90% of the

class have ranked below Raju. How
many students have ranks above Raju?

@ 23 .
(B) 24
(€ 25
(D) 26

In a class' of 50 students, Raghu'’s
rank is twice that of Paul. There are

. 10 students who have ranks worse

_ than that of Raghu. Paul’s rank in the

class is
() 5th
(B) 10th
(C) 15th

(D) 20th

S/F/P/11/2018/2-A

34.

Umar reached the place of meeting

_ 30 minutes.before time. Arvind reached.

45 minutes late for the meeting. The
meeting finished at 11:00 am,
30 minutes after -Arvind reached the

*meeting. At what time did Umar arrive

for the meeting?

(A) 9:00 a.m.

(B) 9:15 am.

“{C) 9:30 a.m.

3.

(D) 9:45 a.m.

A watch gains 12 minutes per day. If

- the watch was slow by S'minutes at

7:00 aim. on Monday, what time will
this watch show at 7:.00 p.m: on next
Monday?

" (A) 5:25 p.m.

.36.

{B) 5:30 p.m.
(C) 8:25 p.m.
(D) 8:30 p.m.’
It is observed that January 1, 2023 is

a .Sunday. In which year again the
January 1st will fall on a Sunday?

{A) 2029

(B) 2030

(C) 2034

(D) 2037

[P.T.O.
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ki c ek
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(B) 543
(C) 530
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Directions (Question Nos. 37 to 41) : Read
the following excerpt and answer the
questions asked at the end. The answers to
the questions should be based on the excerpt.

The Lok Sabha is composed of representatives
of people chosen by direct election on
_the basis of Universal Adult Suffrage. The
maximum strength of the House is
552 members—530 members to represent the
States, 20 members to represent the Union
Territories and 2 members to be nominated
" by the President from the Anglo-Indian
Community, At present, the strength of the
House is 545. The term of the Lok Sabha,
unless dissolved, is five years from the date
appointed for its first meeting. However, while

a proclamation of emergency is in operation,

this period may be extended by the Parliament
by law for a period not exceeding one year ata
time and not extending in any case, beyond a
period of six months after the Proclamatmn
has ceased to operate. After cvery Lok Sabha
election, the President invites the political
party or alliance of parties that has the
majority of new elected members to form the
Government, ' ' '

37. The current and maximum strength of
the Lok Sabha are respectively
(A) 530 and 545 '
(B) 545 an_c_i. 530
(C}) 552 and 545

(D) None of the above

38. The number of members of the Lok

Sabha chosen by: direct . election’ is
currently

(A) 545
(B) 543
(C) 530

(D} Cannot be known from. this excerpt

S/F/P/11/2018/2-A
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39.

‘Which of the following statements is

. true?,

(A) There can be 2 members from the
.. .Anglo-Indian Community chosen
by direct election.

’ tB]; There are 20 members from the

" Union Territories and 2 from the
.Anglo-Indian Community chosen
~ by direct election,

(C) There are 20 members from the
.. Union Territories chosen by direct
.election and 2 from the Anglo-

~ Indian Community nominated by
the President. '

. (D) -None of the above ™

-41.

(A} by the President,

While a proclamatio'ﬁ of emergency is in
operation, the term of the Lok Sabha
can be extended

(B) by the Parliament:

(C) by direct election

(D) None of the above

Based on the excerpt above, which of
the following is true? -

[A] The mandate of people is important
for formation of Govcrnmcnt in the
Lok Sabha.

(B) The majority of members can form
the Government on their own

without invitation.

(C) The term of the Lok Sabha cannot

be extended under any
circumstances,
(D) None of the above
[P.T.O.
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Directions (Question Nos. 42 to 46) : Read
the following excerpt and answer the
questions asked at the end. The answers to
the questions should be based on the excerpt.

Any economy can be divided into three
sectors, namely agriculture, industry and
services, based on the nature of productive
activity. India’s economy at the time of
independence was dominated by agriculture
contributing 52% to the gross domestic
product, followed by services with 34% and
industry with 14%. In the nearly 70 years
since that time, the structure of the economy
has changed dramatically, with agriculture
now contributing only 17%, industry 29%
and services 54%. Thus, the Indian economy
has transformed from an agriculture-driven
to a services-driven economy. A high share of
services in the economy and a corresponding
low share of agriculture is typically a sign of
a developed economy. While this is true of
the Indian economy as well, India can be
considered only a developing economy as the
services sector- in India’ is largely composed
of low productivity, manual labour activity,
rather than high-technology value-added
services. Most developed countries have
transitioned from agricultural economies to
industrialized ones, and only then moved to
services-dominated economies. Large-scale
industrialization helped absorb the large
labour force from agriculture that became
unemployed or under-employed because of
rising productivity. However, in India, the
contribution of industry has grown only from
14% to 29%, and thus the surplus labour
force was forced to transition to 1ow-pay1ng
jobs in the services sector.

42. The share of agriculture in the gross
domestic product between the time of
independence and now has

(A)
(B)

fallen by 35% since independence

reduced to half of its contribution
at independence

(C)
contribution at independence

(D) None of the above

S/F/P/11/2018/2-A
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43. ‘Which of the following statements is
true?

45,

(A)

(B)

(€)

D)

At the time of independence,
the Indian economy could be
considered a developing economy

because of high share of
agriculture and low share of
services.

Today, the Indian economy can be
considered a developed economy
because of high share of services
and low share of agriculture.

Today, the Indian economy can be
considered a developing economy
because of high share of services
and low share of agriculture,

None of the above -

Which of the following is true of the
services sector in the Indian economy?

(A)

(B)

{C)

(D)

It consists of only low productivity,
manual labour activity and
not high-technology - value-added
services.

It consists of both low productivity,
manual labour activity and high-
technology value-added services,
though not in equal amounts.

It consists mainly of high-
technology value-added services
and not of low productivity,
manual labour activity.

None of the above

India is still considered a developing
economy because

(A)
(B)

(C)

(D)

India, has predominantly an
agricultural economy

industry contributes 29% to the
economy

of large dependence on manual
labour activity instead of high-
technology value-added services

None of the above

[P.T.O.
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50.

51.

w9 A frlm w1 ogEm sw A IR T

Frafafaa 1 @ frt 32

(4) Fufe, 243 T CTH Wy,
e, T .

(B) &, 24-3@ IS Wh F AW Wre,
afen

(C) Fafm, 22-32 T@ TF F 9N
T, &

(D) &1, 22-3% 914 U% & UY G,
At

o 99, ghlal € wh 3R, wuht § wwE
Teft 312 20 B wft R ¥ wramm W 2w

oz % Piefofag 4 @ #9-w s 37
(A) o gaft 313 = W

(B) T® I, afifal 7di &)

(C) wft weft, mfifat ¥
(D) &t 32 wiaem F

T R¢ 991 # I FRIEND % HUMJTK %
& ¥ foar sar 2, @ 36 ww # BHOPAL

T ¢ ¥ forar som?

(A) DJQRCN

" (B) CJRTEQ

52.

(C) DKSUGS
(D) DLSVHT

yia @ R W o 9@t vEE 6 ik e
WATNFA H AT R I R @
Ifth 39 WHg @ B W11 ¢, 99 9 9 9
WA ¥R R S wm w9 d wen
F 81 39 fufe 3 9w =ofimat =1 fise e
g Sem?
A) 4%
(B) 5%
©) 6%
D) 7%

https://www.pygonline.com


https://www.pyqonline.com/

" 46.

47.

Which of the following can be concluded

from the information provided in the
_ excerpt?

(A) Since the share of industry has
increased from 14% to only 29%,
large-scale industrialization has
not happened.

(B) Surpius labour force from
agriculture was forced to work in

the services sector.
(C) Both of the above

(D) None of the above

The Government of India launched

- a programme called ‘Clean Ganga’. This

48.

is because

(A) the Ganga is a holy river

(B) contaminated Ganga water can
spread contagious disease

(C) groundwater cannot be used for
drinking purpose

(D) it can attract more tourists

Should all train engines operated by
coal be converted to electric engines?
(A) Yes, coal engines pollute the
environment more than -electric
engines,

(B) Yes, electric 'engines are more
powerful and efficient.

No, we do not have eriough electric
power to cater to the need of
domestic use.

)

(D) No, we have enough coals to run

. train engines.

S/F/P/1I/2018/2-A
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49,

The order of the tricolour of the Indian
Flag from top to bottom is in which of
the following sequences?

(A) Saffron, White with 24-spoke
Wheel, Green

{B) Green, White with - 24-spoke
Wheel, Saffron

(C) Saffron, White with 22-spoke
Wheel, Green

(D) Green, White with 22-spoke
Wheel, Saffron

50.

51.

52,

Some chickens are hens. All chickens
are birds. Female birds lay eggs. All
eggs are not fertile, Which of the
following is logical in this regard?

(A) All birds do not lay eggs.

(B) Some chickens are not hens.

(C) All birds are hens.

(D} All eggs are fertile.

In a code language, FRIEND is coded

as HUMJTK. In the same language,
BHOPAL will be coded as

() DJORCN
(B) CJRTEQ
(C) DKSUGS
(D) DLSVHT

Five people are planning to share
equally the cost of a rental apartment.
If one person withdraws from the
agreement and others share equally
the entire rental of the apartment, then
the  share of each of the remaining
persons is increased by

(A) 4%
(B) 5%
(C) 6%
(D) 7%

[P.T.0. "
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83, Consider the following :

54.

§5.

41| 7

21 16

35 + 40

14 42

Find the missing number.

(A) 12 (B) 13

€ 14 D) 15

What is the importance of developing
Chabahar Port by India?

(A) India’s trade with African countries
~ will enormously increase,

(B) India’s relations with oil-producing
Arab countries will be strengthened,

(C) ‘India will not depend on Pakistan
for access fo Afghanistan and
Central Asia. '

(D) Pakistan will facilitate and protect

the installation of a gas pipeline
between Iraq and India.

For election to the Lok Sabha,
a nomination paper can be filed by

(A) anyone residing in India -

(B) a resident of the constituency from
. which the election is‘to be
contested

non-resident Indian below 30 years
of age

©

(D) citizen of India of 30 years of age

S/F/P/11/2018/2-A
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56.

-(B)

57.

- (B)

©)

The school- Principal received several
complaints from parents about bullying
in the school campus during recess.
He wants to investigate the matter and
find the culprit, Therefore, he instructs
to one of his teachers to look after
the students during the recess. Which
situation should the teacher report to
the Principal? :

A lonely girl is sitting under the
tree and crying.

(A)

Four boys are forcefully trying to
open another boy’s backpack.

Five girls are playing catch and
throw game.

Three boys are huddled ‘over
a mobile phone which is not
~. 'supposed to be on'school campus.

(D)

What is the purpose . of Vidyanjali
Yojana? - -

(A} To -enable the .famous . foreign
educational institutions to open

their campuses in India

To, increase the quality - of
education provided in government
schools by taking help from the
private sector and the community

(C) To encourage voluntary monetary
contributions from private
individuals and organizations so
as to improve the infrastructure
facilities for primary and secondary
schools B

educational
open their

To enable Indian
institutions  to
campuses abroad

(D)

[P.T. 0.
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S8.

59,

Right to Vote’ in India is a

-(A) F“undamental.Right
(B) Natural Right

() Constitutional Right

(D) Legal Right

Which of the following is not the
objective  of ‘National  Nutrition
Mission'? ' :

" {A) To "create awareness relating

60.

to malnutrition among pregnant
women and lactating mothers

(B) To reduce the incidence of anemia
among young children, adolescent
girls and women

{C} To promote the consumption
of millets, coarse cereals and
unpolished rice

(D) To promote the consumption of
" poultry eggs v

A3P means A is mother of P. A4P means
A is brother of P. A9P means A is
husband of P. ASP means A is daughter
of P. Which of the following means that
K is the mother-in-law of M and J is the
brother-in-law of M?

(A) MON3K4J

(B) MONSK3J'
(C) K5J9M3N

(D} None of the above

S/F/P/11/2018/2-A
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Directions (Question Nos. 61 to-65} : In each
of the questions below is given a statement
followed by two assumptions numbered I
and II. Consider the assumptions and decide
which of them is/are implicit in the given
statement. :

61. The International Solar Alliance seeks

to bring down the cost, of producing
solar power.

Assumption I :

Promotion of R & D, particularly in
the area of efficient storage systems.

Assumption [ :
Member will be legally bound

to increase the solar energy
generation.
(A) Assumption I is strong
(B) Assumption II is strong
(C) Assumptions [ and II are strong
(D) Neither assumption 1 nor I is
strong '
A Physics teacher in the class

62.

announced to keep a copy of Concepts
of Physics written by H. C. Verma,

Assumption I :
The book is well-written. . .
Assumption II ;

Every student can afford to buy
the book.
(A)

Assumption ] is sirong

(B) Assumption Il is strong

Assumptions I and Il are strong

©,

(D) Neither assumption I nor II is

strong

" [P.T.O.
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63.

Bl wEd wifai sk Rwa wiow |
Taegon e o ¢ feen e e

g1

mﬁsﬁaﬁm%mﬁmm

WE &1
yaymen 11 :
“wff 9 oEl R am%[ i @TR sl
gguhs % w1 10 fren e i
(A) TR 1 T &
(B) tﬁimlruwﬁmﬁ%

Q) qﬁwmlaﬂtllaﬂuwreﬁ%

64.

65.

(Dlﬂﬁ!tﬁimwnxamqs"ltﬁqmn

wEEeh
Wﬁmﬁqﬁmmﬁﬁﬂmm%l
ET 1

mﬂ%ﬂﬁﬁsﬂmfmaﬂiﬁﬂmaﬁ
fmdamw R

Y 11

T, T, e v fnin o
o A R R

(A) qgimwnzwﬁmeﬂ%

. (B) wEumn 11 yEE @
(€) ﬁmlaﬂwﬂﬁuﬂmﬁh%

¢D}qﬁrﬁw1aaﬁt::ﬁ1a‘tm-n
EEIEISIR o
Hﬁﬁ*(‘éuaﬁe)wwmaﬁm%l
TAgRe [ :
m%ﬁﬂﬁ%ﬂm%mm

C ) B H AR -

qame 1 :
aifRs @ afie g4 ? a?lt T
IR 9 3

(A) THuR | wER &

(B) GIGwN 11 SNEEeh '

(©) Furomd 13 11 3 weiaeh &

(D) 7 @ Euron 1 3 A & gEmwon i

JTEET R
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66, TF Fioe GaEm ¥ 3/16 oF 3 8 & 2

¥ TERa o F1oPEaR wR F fee
e foftr wie #@ &, 5/8 A w6 3
oy F9 F o dege wig & 5
TR wE ¥ T 75 ot Y W B oh w2
TE TR T R R oE % s ffy
T6e it 3R I N Fa v et R?

{A) 75 R 400

(B) 125 3K 300

.. (C) 75 ¥ 300
© (D) 150 ¥R 400

67.

W ‘ved : ar frfafe 3 3 Frel 9 R
e 37

(A) W : Tl

- (B) YR, :

(C) ﬁﬁﬁlﬁﬁ-wa;ﬁ'ﬂq

{D]qsﬁhﬁrﬁ mﬁﬂﬂﬁ

.uﬁlmmwﬁﬁf‘uﬁwm% 2 7@ F

v w3, 3 e & Rfke @
2, 4 ®9 & Wl wa R iR s f @
whffa w2, @ Ru g densd | s
Wik | FEe[ A

(A) 25314

. (B) 52134

() 25134

69.
- e el 1

(D), 52314 -

mmiﬁmwaﬁwmﬁﬁqﬁm%,

(A) Ea wEm AR
(B) oTeawyade 3 Fgd WeIaR €l 3

- (©) wRe 3R 9w & 7 A &

(D) 3T &

https://www.pygonline.com


https://www.pyqonline.com/

63.

64.

65.

Tuition fee shall be abolished from all
government engineering and medical
colleges. s :

Assumption 1 :
Colleges have enough financial
support from the government,
Assumption II :
All meritorious students shall get
free education irrespective of caste,
religion and economical background.
(A) Assumption I is strong
(B) Assumption Il is strong
(C)
(D)

Assumptions I and II are :e.trohg

Neither assumption [ nor II is
strong

Drastic increase in pollution is now
a global phenomenon.
Assumption I :
All countries have realized it and
working towards the control.

Assumption II :
Growing  population, industries,
highways and constructions are
beyond control. '

(A) Assumption I is strong

(B) Assumption II is strong

(C)

(D)

Assumptions I and II are strong

strong

Tuberculosis (TB) is a pandemic issue

I]O“*J.
Assumption 1 :
Government should work towards

complete eradication of diseases like
Polio.

Assumption II :

. Tuberculosis is not a serious disease
and treatment is available.

(A} Assumption I is strong

(B) Assumption I is strong

(C) Assumptions I and Il are strong

(D) Neither assumption I nor II is
strong ’

S/F/P/11/2018/2-A
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A

67.

69.

66. In a college survey, 3/16 students

said that they prefer online method
to pay their mobile bills, 5/8 said
they prefer to go to a mobile shop for
the bill payment. The remaining
75 students said they had no clear
choice. How many students preferred
online method and what is the total
number of students?

75 and 400

(B) 125 and 300
(C} 75 and 300

(D) 150 and 400

The pair ‘Before, K : After’ is correctly
related to

(A) First : Second
(B) Past : Present
{C) Historic :

{D)

Contemporary

Predecessor : Successor

If 1 represents cotton, 2 represents
plough, 3 represents mill, 4 represents
clothes and 5 represents seed, then
arrange the given numbers in

' a meaningful manner.

(A) 25314

(B) 52134

(C) 25134

(D) 52314

Eating home food is always a better
choice as the hotel food is

(A) very expensive

(B) unhygienic and very spicy

(C) tasty and full of nutrition

(D) All of the above

[P.T.0.
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70. M A MATA SR M ReM 74 e e i fm iy
R-fg ¥ fag fig w fwedt & A w@ o

S FIAIA
WA . (©) Al A
e AAY

O[] T|L] e

@) B © ) v v V[ /\
|
©

71. Fe e W 3 @ P oF s ®) ) D)
' (A CEFH (B) HIKN |
' 75. MWAQ=9,A =27 B=81,7 AEl=7
(C} PRSU (D) UWXZ
: (A) 283 (B) 382
72. 9% fu m yE-RE B W@ e © 823 - (D) 621
e =fen? |
s 5 o 76. ﬁma@'ﬁmmm@%i’ |
slat1|17|3]|2|113l72]|s
6 6 11
(A) 4 (B) 6
©) 8 (D) 10
() 39 () 36
73. TA-fug & o a8 fosrew @ - -
' . (©) 38 . (D) 40 .

@ - @ O] | ? 3w (3 "o 77 ¥ 80) : Fr=foiaa s@w 1 v
U ai s # 18 T v W IR ¥ v F I S

= ﬁi-s . T eI T =R '
‘ T @R 3 3 e F o $ wew e
| ‘ @ Q. @ G iy 9 70 of TSl R SRR Tege A R
% fu yoad R wER wWRE ghwsd &
(A) (B) (C) (D) e, JERYT H WRA danE ok wfva vy
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70. Find out the correct figure from the
multiple choices for the question mark
shown below to make the series in

order :
ANEON 7 @
Answer Figures :
O ®
(4) (B) (C) (D)

71. Which one of the following groups of
letters is the odd one out?

(A) CEFH (B) HJKN

(C) PRSU (D) UWXZ

What number should replace the

72.
question mark shown below?
4 9 19
51211 71312 131?25
6 6 11
(A} 4 (B) 6
{C) 8 (D). 10
73. Find out the right answer for the
question mark :
I .
Answer Figures :
(4) (B) (C) (D)
S/F/P/11/2018/2-A
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74. Which is the missing square in the
. following options?

V
A
AlA)]

Answer Figures : htlps://www.pygonline.com

<> |>

<¢]

Y|V A

(A) - (B) (D)

(€

75. 1AQ=9,A =27, @=81, then Ale]=?
(A} 283 (B) 382
©) 823 (D) 621

76, Find out -how many rectangles are
present in the. following figure :

B) 36
(D) 40

(&) 39
() 38

Directions (Question Nos. 77 to 80) : Read
the following excerpt and answer the
questions asked at the end. The answers to
the questions should be based on the excerpt.

Availability of pre- and post-natal health care
facilities in order to reduce infant mortality
and post-delivery deaths among mothers, old
age health care, adequate nutrition and safety
of individual are some important measures
of a healthy and reasonably long life. India has
done reasonably well -in some of the health

[P.T.O.
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a0 A Gean | wR S 98 STy @ § R 3w
TR ¥ FTH FAR A ¢, 9 oY W ¥ 1951 §
25-1 yiwew @ 1999 # 81 wfemem & i ),
afr &t sty J frg o = 148 Whwem ¥ 70 D
¢ off | Tt v 9 ¥ v g R ey
1951 % 371 99 | 1999 ¥ 62:3 T wh R
wieae % R 362 = ¥ 653 T 7 gurA 3§
HFE @1 ¢ | T 4 g w9l Syafent §, adt o
TFd FB T D FEEEA 2| W T @l omly 3§
S U H 408 ¥ 26:1 W # whoran el &, wg
ag afl oft ¢ faerfir At R} g0 ol R4

s sik anflor qon well waRes gEel & wed
Tar WY @ Ry ek A faees ¥ vra A ol
T srgor & it w0 58 1 2001 A SO F
e, fale &9 A 0-6 oy g & €19 9@ fom
agame % g ¥, acia Fraees §) 36 fawm &
9 4 Tewpl dhomm § % e # oew af
T A 9| fom erem w2 o R 3 wfamn
T R fwRa = A vl st faares R,
T G 800 TR wftrea arae a R TN R

77. Fffen 31 a?r-l-_ﬁfia‘ w1 T R/

(A) yeagd o wEaRR @rRer ghRar fing
U N Tt i wEER el A
A & oy e E

(B) wHagd ¥R ywarR w@weem gl R
U o au WAl i yHdeR gegelt @
@ A T w W oFE F R
e R o

(C) I I

(D) I # ¥ i Tl

S/F/P/11/2018/2-A
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78. 1951 ¥R 1999 F =& 3§ gog @ 3R

ﬁma?gaﬁmaﬁ,'m:
(A) 3 R R &
) T st 2 @ e
(©) ﬁwaﬁtﬁmi‘taﬁ%
(D) S § & W i

. I % wHa Sie-wearn ¥ e i Peafafea

FF W R fif .

w1 1951 # wR IRl ¥ foyg Rel @ afts

a1 3K 1999 # g Tl o fow gest @
Hftrs o) :

i) 1951 ¥ 1990 ¥ e i T &l
Sl et 2t < fer =g R

fu o e A R w0 R TR

(A) A (1) 99

(B) e o (1) A9 3
(©) A wuqdg ¥
(D) 2R 2@ du 7 &

80. ¥ # =Tt fom sgwa e ____ R

(A) H At
(B) 4%
(C) & §H

(D) Eiw ¥ W Frewd W@ P W
TN 2 |
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indicators ‘like .decline’ in' death rate from
251 per thousand in 1951 to 81 per
thousand in 1999, and infant mortality from
148 per thousand.to, 70 during the same
pericd. Similarly, it also succeeded in
increasing life expectancy ‘at birth from
37'1 years to 62-3 years for males and
362 years to 653 years for females from
1951 to 1999. Though, these are great
achievements, a4 lot needs to be’ done.
Similarly, it has also done reasonably well in
bringing down birthrate from 408 to 261
during the same years, but it still is much
higher than that of many developed countries.

The situation is more alarming when seen in
the context of gender specific and rural and
urban health indicators. India has recorded
declining female sex ratio. The findings of
2001- Census of India are'.very dlsturbmg
part;cularly in case of child sex ratio between
0-6 age groups. The other mgmﬁcant features
of the report are, with the e:-cceptlon of Kerald,
the child sex ratio has declined in all the
States and it i5 the most alarming in the
developed States of Haryana and Punjab,
where it is. below 800 female children per
thousand male children. '

"

= L 1

. 77. Which of the follomng statements
is/are true?

(A) Pre- and post-natal health care
facilities reduce infant mortal:ty
and -post-delivery deaths among
mothers.

" (B) Pre- and post-natal health care
facilities reduce infant mortality
and post-delivery deaths among
mothers and deaths among old
people.

P

(C} Both of the above

(D} None of the above

S/F/P/11/2018/2-A
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78. Between 1951 and 1999, the death rate
and infant mortality rate have fallen by

©

79,
" " the life expectancy at birth

W

80.

" (A)

(B)

]

(D)

more than 2 times and 3 times
respectively

more than 3 times and 2. times

, respcctively

more than 3 times and 3 nmes
rcspectwe]y

Nonc uf the above

Consider the following statements on

()

‘In 1951, it was higher for males

than for females, and in 1999, it
was - lower for males than for
females.

Between 1951 and 1999, it has
increased for both males and
females.

Choose the correct answer from the
given alternatives. :

(A)
(B)

(C)

(D)

Only statement (I) is true
Only statement (II) is true
Both the statements are true

Both the statements are not true

The child sex ratio in Kerala is
that in Punjab.

(A)

(B

€

(D)

higher than
lower than

equal to

‘Cannot be concluded from the

excerpt

[P.T.O.
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frdw (v do 81 @ 85)-: Ry 7T I F UR W
fafoRes 7+ % Sm &)
TN—1

FE G A w3 el ¥ SAHEEA & W
R wfafia Feft # Fener ggam 9 F7 fagny §1 sl
4 faftrg @i §1 = & & Wl % 3w @ fred
Ifea #3 weww 8, Rad ¥ R wwm SR
dE @l § 9 W W A Iga @9 A s
HEYE ¥ B i STRNE T A W SR
O 3| TR AEeE el = ww@t @ g am
R daedram Afi ¥ da s 1 T Rflg @
I G 81 A wueE % i rafys waila @R
faferg @ $t o Freft fogmy <t 3 of off sm R
3 9@ ft Tl A IR @ ¢ @@ T 3 aah wie
$ R & 4 = 399 ¢, o9 WA &, wR
3 T w1 wen g e W d el fiw
e aEia | I R

81. Fwi fraehl gamEn 37

(8) wn (B) 7
(C) wepf (D) ®ha

82. et ) s st ¥ v o A 7
(A) FFEHFA (B) A
(€) wam -

(D) ot

83. TEHeANA AR e & Ful fRE R7

(A) VIR & <o i

(B) ¥ ¥ weg

C) TFEH

WRIGEE R CER

FEh § wha-w 3 FH 9 & R @
37

Ay RRgE  (B) Rl

(C) |WTRES (D) @l

84.
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B5. ﬁﬁmﬁﬁmﬁmm%&sﬂtw'
T < 27

(A) ﬁ&mwaammﬁﬁwﬁtﬁmﬁ'aﬁt
(B) &t AR |
© FERmA K

" D) mﬁqﬁmﬁaﬂt

fady (v 5o 86 0 90) ¢ ﬁqmm%mrﬁ
FrfeiRaa wet & s df|
TeN—2

el wi Shiw o gieel sitewe 1889 A g A
mﬁ{a§mm|maﬁaraﬂém#imm
T A} v g gt iR St w9 & fae
331 Fie # TesedaR 7 A1 98 43 gu A 39 gad
N I G W R A IR TG e
T JEHR FER A Fa, W g3 an i 7
WA T ok T S W W o W
angd 7 }1 w1 R vl @ o el wfen
# s g ) wifim D7 w0 ae @ o afe
wH $ & T awl e H o T g I
T ER? Pt F e S A A
arEE ot w anft ol aga FB wEN W) T AW
i TEr o1 3 WM @ 1889 F I sitETA i
9 wfeen wfiffy wfidferm g off1 3 ww 5 wiafiy
T8 a1 wwdl i1 favmed | R dear 9 A g
Ay % @ e W IR O SieR
faan @ we 5 Th-gfte oeem i fa w@h)

86. W WA FM T uiwal IR w1
HRifea ganr?
(&) 1989
(B) 1881
(C) 1889

(D) 1883
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87. I8 YR I F w0 W AY
(a) ¥ T
() e e g
(C) dfem wed weTe
(D) q&mmﬁﬁs -

T el g % v @ e 3 e
e iR 3 v Ren?

A) 7
(B) 8
9

(D) 10

89, Wred) gl ¥ v W W SRR s e

(&) Remal A R deam A B o F
oy e W

B) fraelt % wiiar W w
(C) favarat % Wl % SRR TEE R

(D) fgs ¥ @y e H Y TR
) .

90. -5 Fider i Hia wdvem Ft Tt
(A) ¥ AES
(B) FHEN WE®
(C) ufem v
(D) wARFR g
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39 (3 do 91 ¥ 95) : fou 7 WM F MUR W
ﬁﬂ%{ﬁﬂﬁmﬁﬁsm@mi

- Tam—3

| v s el d B e w@ g R

IEh A B G A P A SRR A T A
W R g ¥ e & R A @) 1@
e WA ¥1) T AN % sitfe-fage % farnefi

- A F e A v e @ R T R A

20

o depa @l w e iife-dkon, FECE—an
¥ @ we-UEh & Tw-Rm A gR R W A
yrg-faum S s 36§ @ g e & 9
78 Wa A TR @ # R R @ o @
aft Y w4 @ W R F g B g @
% W W@ FE FE T A A AR A 5@ A
farn Rl ol 3 wad- W AW 7, I A 7
TR 3¢ gd g 3 o W e i @m
f Rt T gom % Tiivg Ted-Tedt Witaw €@ A
® T T W A EE-ERH WS D
iR O 8, N O 8, T TR F0E 8
i freft wemra A wdE wm O R, 9% wE
2

01. ﬁ%%ﬁlaa!‘hﬁm%,ah_
. (A)- T arfeenn U &
(B) TR G, ST el R
- .(b].-aa‘ﬁammﬁfl%
(D) IEwEf

- 92, e F1 g fam # fee W @

wafid 87
). e-fgm (@) wEA-faEm,
(c) Wfes-fgm (D) smwf-faam

w4 H1 Tma-fyum 7R % m j7
@A) AR (B) A
() wRl-&-g1 (D) T AR

93.
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94, & A 3 R g@ @R wEw ! -

A) SRR (@) e w
€ =EHR (D) TR R

95. fag 3 mmﬁmﬁm?
() - & fow -
B) mmmﬁ%m
(C) m—q'm%gaﬂsﬁm
(mwmmﬁW%q

dm (v Ho 96 ¥ 100} ﬁmwm%m
w Freffe vt & sw ity

i = weha mm%weﬁm T e e,
Wmﬁ%ﬁﬁmmammﬁmﬁ
ot T2 TR0 e 1 @ R 7 A A, wﬂm
aifew; waife s 5@ et wife A R ol i
@ &, T T | SAl-w9 e YSR =g, - gu
T I T S RN AT | R v <6 fgeEn %
Tt oft uaarht A w wftn @ o o5 fafim wfeat &
TR T H A B 2 1 el ) wfm- R
i v Y w37 9 it v T | Iww Wi
@i 81 2l @ 99 @ 9 F W e i
5 5@ e $ SR 0 W R =R @ A
T WO I el ¥ Wa = S
s & a1 w0 o faga 7 W @) afm 77 @
76 gul et F IR, TR TR 7w TR R of

&=, = & = @t A, ﬁfm?ﬁﬁaa@'

3 L ARSI

96. memﬁmmaﬂﬁmwﬁ
Tl 37

(A) TSI i
(B) ‘T s
(€) —zsis s
(D) sT1-wiSH
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97. & A R = B IFR T Y @ H

98.

99,

100.

o= § TE fge?

(A) TG 9T 3@ WM ¥ S W @
S SR W @

(B) ¥ Wi & @ TRl R TQ W
F & g W @

(©) Tt el & e, e o % T
A & R = 39 ofv @ T
W@

(D) I weft

feht A 7 vl w1 AT = i R7
(A) dfcT=mw S F@m

(B) W% W B F RO

(©) &% Wr 9 § v |
(D) <erwr) ferfd < mm

frafafan # & F-m FF 79 ¥
@A) DA ad, vt =
(B) 0 3 o B v )

(€) "= A 3R sfi ome oufi-faeeh it
¥ o B ‘

(0 s

%ﬁﬁwﬁ%aﬁqmﬁm%ﬁﬂé@m

X 7w T R, 39 7

(A) = sl & weg TRW i Wi
(B) I A TG H IR

(€ &= = I Tl A femn
(D) I T J A
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